Y — @ otor assem Y R—

motor
\II/\ l_l E @ M Raspberry Pi source code link: [ M2*8mm self tapping screw

https://drive.google.com/open?id=175Gv8o4ukMqPLa0BWIxaQGVSmJZWhTsi A ‘ Aluminum alloy turntable
&‘ ' BG SDcard x 1 E E ‘

| 40pin cablext Heat sink x 1 :

‘ 1 -

i T e - -
S B

Raspberry Pi Trikebot smart car

——— M8 Dual screw

[Option)

manual Component List

@
Pulley IF

i < | teering gear
| 1 - Design Sketch 2
i | I I I I EW 5°20mm copper ks M3*30mm screw M2 nut Design Skeich
Alumincus alloy | awdexpansion | ! H :Ilan«; ]

o i ! H | M2 5°Bmm screw xB ! T
chesse { ot i [ AAAARRAR | 5 @ Tyre assemble € Metal servo and turntable assemble  Design Sketch
ey : ; L ’ : @ Aluminum alloy and fork assembly

M) BCTEW H i
My o 30 H { 67mm tyre M2*4mm screw - 5
MG 16emm screw x3 : . . =
2 56 scnem x5 | Motorx2 | Installation instructions M2.5*6mm self
M 20me scraw x4 | ] i
N3t 100 1 i apping screw
ol @ 4 Channel tracking module assembly
18650 battery 12.6V Battery { ’
boxx 1 i chargerx 1 . F - M3*10mm screw

H | | Plastic spacer ; ]
i . Design Sketch Design Sketch
18650 Lipo Bluetooth 4.0 P - Design Sketch .
battery x3 | module x 1 i . Afuri I — bl @ Servo and Car chassis assemble
M3*28mm copper @ uminum alloy chassis assembly ) )
1 i pillar _ 1T M3*10mm screw
@ Please read this manual carefully before use H : @ Battery box assemble
. . + s i : M3*16mm grub screw Plastic spacer
& The company reserves the right of interpretation for this manual i g, Scrsdiivend E
2 Product appearance, please prevail in kind H = M3*10mm screw : h -2
i D Sketch — i |
@ Please keep the manual properly after reading ; esign Sketcl .
: B M3*10mm screw [+ /
! i~
Tyre x2 | Accessaries x1 e
The Trikebot Smart Tricycle is an open source hardware educational robot with front t ]
wheels that are turned by mechanical mechanisms. I trasonic modlext @ Aluminum alloy assembw Design Sketch
The smart cars that are commen in the market can only be steered by the differential & ggm x:g |
speed of the wheels, and the design of the Trikebot makes the steering more flexible Servo package x1 e copper -} M3 nut
and diversified with the differential steering. i nr | a2 : ) = M3 nut Design Sketch
| | 4pin cabie x1 1
In addition to its unique steering control design, Trikebot also supports a number of cus- ; L { £ M O S et @ .
tom-made sophisticated sensors that can be easily programmed through programming, Colorful searchight al | *Fmmnchirack | v . Front wheel steering assemble
j ; ; i § mocuie x | 3 Battery buckle and copper pillar assemble Metal servo assembly
line-crossing, obstacle avoidance, and remote control. M3*10mm screwx2 | A —— - ~ M2.5*6mm self tapping screw
:‘;:’;;i:: X2 :;iiﬂ'" coppar ' . M3*18mm copper pillar @
m &pin cabiex I ’ I ) M2*10mm screw Aluminum alloy steering wheel
Shenzhen Yahboom Technology Co., Ltd. is a professional company specialized in I
open source hardware and maker education. We have two Enterprise Concept: turn _I?'?ZTm capper
! illar x: ¥
ideas into reality and Let more children become maker. Company's products now have 1 A Plastic spacer xn 5 ko 4
X o 3 o ) ! oo 13*18enm copper
::ov:re«lzl ea;l; chllt_ihood :ducanc;n, :;e_:”gent:‘ robot educatlon..dun?rersul\_.r au::ar:wtmz i illar xa Design Sketch
echnology education, and so on, rl1a ition, the company prowl es long-term help an T ] Ye Metal seria
products for colleges and training institutions to develop a training program.Shenzhen Battery Design Sketch
i i iali i H - plastic spacer L esign Sketc!
Yahboom Technology Co., Lid. is a professional company specialized in open source | @ HD camerax! i buckle [ Design Sketch
hardware and maker education. We have two Enterprise Concept: turn ideas into reality Q camera cable x1 i gRaspbe.'ry Pid+ Design Sketch 3D printing servo stand
and Let more children become maker. Company's products i 111 2. 51 Omm: sorem x| 1 = 1
M1 0mm screw



@ Ultrasonic module and 7 color searchlight assemble

ultrasonic — M3*10mm screw

module — . plastic spacer
>

M3*12mm _I I

copper pillar elille-—»— 7-color searchlight module

——M3*10mm screw

Design Sketch

@HD Camera assemble

Note::only Raspberry Pi available

HD camera

~

r—MQ.S‘mmm screw

Design Sketch

@ Connecting rod
M3*12mm copper pillar
L Plastic
spacer
L:Ur!r‘.eTr'g rod l

| |——M3*10mm screw

-

Design Sketch
L

@ Steering engine and 3D stand assemble

M3*6mm

screw

—— M3*10mm screw

L— plastic spacer

Design Sketch

Introductions for e onnection

@Raspberry Pi control board assembly g i
1.Tracking mode :

Wir | requir indoors, where infrared light is not strong, The black
line track width on the white bottom surface needs to be greater than 16mm.

M2.5"8mm screw

king module RGE light

Fan madule ?

Sw2  swi SW3  sw4 P4 P3i P1 P2

Battery box

Design Sketch

M2.5*20mm ”
copper pillar || " ”

4-channel track module (front)

4-channel track module (back)

Debugging:

@ Adjust the potentiometer [SW1] so that when the photaelsctric sensor [P1] is facing the white bottom
surface_ the LED light [L1] is off, and when facing the battom of the black line, the LED light [L1] is on

@ Adjust the potentiometer {SW2 so that when the photoelectric sansor [P2] is facing the white bottom
surface, the LED hght [L2] is off, and when facing the bottom of the black line. the LED light [L2] is on

3 Adjust the potentiomater [SW3] sa that when the photoelectric sensor [P3] is facing the white bottom
surface, the LED light [L3] is off, and when facing the bottom of the black ling, the LED light [L3] is on

@ Adjust the potentiometer [SW4] so that when the photoelectric sensor [P4] is facing the white bottom
surface, the LED light [L4] i off, and when facing the battom of the black fine, the LED light [L4] is on.
Note: When adjusting the potentiometer, the rotation amplitude should not be too large. and the rotation

M2.5"6mm screw

DC geared motor

Bluetooth module

40pin cable

amplitude is less than 30 degrees.

Bluetooth remote control

APK Download link:
https://drive.google.com/open?id=1UpauWqd T4VT TylHEki6Gn2vPWRZIt5jn

[B:4v-12 8V} DC charging stand; 18850 Jithaum battery
I8 used for charging: Note that this DC port & o0 the

JL3]: The power supply indicatar light is always on after
the pawer switch is tumed on. it is not 1}, please check
the power supply wiring (the power line red comespands
10 [+] and the black corespands fo -]l

Design Sketch
eipansion board

1L1]: Low voltage indicator. When the valtage is low, the

Jght I off ant he-powee supply incicator [L3) s a8, Please download bluetooth APK with Ardroid phone:

Turn on the Bluetooth on your mobile phone and open the application [Trikebot].
The Bluetooth module near the tail of the Trikebot smart car can be connected
automatically.If you find that the search Bluetooth signal changes in the upper left comer,

you can directly click CONNECT to connect.

Jumper cap shoried [MVCC-=5v]
(tactory defaull plug in Here. | /

M3*10mm screw by Trikeiot conmEsT smop A

Mohile phone near to Trikebot,
bluetooth connect automatically

Plastic spacer

Design Sketch

The fom serve interface i 1], in which brown is connected fo
GMND. red is connected to VOO, Bnd ofangs ks connecied 10,

part

The borzantsl sarvo interface of carmera is [12], in which beown k
Is connected te GND, red Is connected 1o WCC, 8nd orange s
‘connected fo 10 part

The vertical sénvo Inderface of the camera & [J3] in which
besen s conscted th GND, rad Is. cannacted b VOE, and After the connection is successful, enter the main control interface.

orange is connacted to 10 port.

Ultrasonic ) Battery )
Mode distance Gravity display  Light
L ] [ ] . L ] L ]

D o D oo vz

B o o e

L ] [ ] L] [ ] L]
Direction Car calibration Function  Left/Right Home
Icontrol drift

Car calibration:If used, it is found that the position of the steering gear is not facing

straight ahead. You can click the car calibration switch. When the display is “on”,

reinstall the turntable according to [12. Combination of the steering gear and the digital
metal servo] to make the ultrasonic module on the turntable face straight ahead

Car control:First turn off the car calibration switch to the "off" . At this time, the "left \middle,
right "can control the position of the car head, and the slider can control the direction of the
car at any angle.

Lights1Click on "Lights ", the options for the various colors of the lights will pop up, click on
any color to change the color of the lights.

Left drift/Right drift Click left or right drift alone can realize the in-situ drift of the car; during

the movement of the car, click left and right drift, and the car can drift in motion

Parallel Reverse . Obstacle
parking Rce  parking Tracking Drift avoidance

—— _‘ T
| parking

RPrideo; |MMRL192.168.0.1:8080/ ?actlon=3

\ RPI part: BBRE

Mode description:
1.Colorful searchlight: click [OK] of the [Colorful searchlight] | the smart car rotating the pan/tilt,

searchlight random change color,

2.Tracking mode : Please debug the smart car according to the “Tracking mode™ in “Function

Debugging” . Place it on the black line after debugging (the two sensor probes in the middle of the
four-way patrol module must be on the black line, otherwise the line cannot be patrolled) Click on
the "Start” smartcarinthe “Tracking Mode” totrack along the black line track,

3.0bstacle avoidance mode: before operation, place click the [Middle] ofthe [servo panjtilt

contrel] inthe [masterinterface] to reset servo, making ultrasonic sensor facing forward.
Then, debug the smart car according to the  “Obstacle avoidance mode " inthe “Function
debugging” ,click [OK] ofthe [Obstacle avoidance mode] after debugging, the smart car
will automatically drive and avoid the obstacle.

4, Parallel parking: Please put the TrikeBot into the side parking position, click "ON" ,the car will
automatically parallel parking, click "OFF" , the car will exit the parallel parking mode to enter the
default remote control mode! !

5.Reverse parking: Please put the TrikeBot into the starting position of reverse parking, click “ON" ,
the car will autematically reverse parking, click “OFF" | the car will exit the reverse mode to enter
the default remote mode!

6.Drift: Please put the TrikeBot car into the open area first, click "ON" |, the car will demonstrate

the drift, click "OFF” |, the car will exit the drift mode to enter the default remote control mode!

Operation step:
1. Connect to the Raspberry Pi wifi hotspot with your mobile phone: YahBoom_Car
The initial password is; 12345678

2.Enter the Raspberry Pi ip address: http://192.168.0.1:8080/?action=snapshot.
Raspberry Pi port number: 8888 Click u [Raspberry Pivideo] (camera version)

The following Raspberry Fi video control interface appears.

Ultrasonic servo
platform control

Direction control

Camera platform
control and light

Note: The Raspberry Pi video display interface controls the car, using the Bluetooth
transmission control command, and the video stream uses TCP communication. After
the configuration, the Raspberry Pi SSH login user name is pi, the login password is
yahboom., the SSH port number is 22, and the root user login password is yahboom.



